EARAROBEEIERT — 2 N— IBISH —F

2014511598 (H) 10@E%FE5H

Ol EIRE C 2 64 52— (w8 | mEmml - |5 5 o s
[AE£] 1% :140,000 ™ ~ 2#%:28,000 ™M ~ 33%&:14,000 M . 43 :10,000 57 :4,000
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
s N ERRE 129, - . - TREEM (KR)
1188 Yay¥xJa—-+b "3 %0 %%f . 03 2 gg fRAEE
LY IINIF— B vTaHT [Esgse]
A # 3 | THE 1:29.2 5-3 39.9| — 6 478 | TE=E (KiR)
EE 2 #/7EI{ 56.0 (3/4) (-a) |REEALE
L:€r/07ad BiuArda—F2R HE Rk
: o3 | SIEKE 1:29.3 4-5 40.1| — 4 435 | fEBEE— (KiR)
318/9 /\Z. b&A L 56.0 (7€) R
L:TIFAT7 X4 L BT FvoT1027 Ela=X njibiec)
o[y = 4 3 | HER 1:29.5 6-6 40.1| — 1 458 | fE<AREHEAI (KIR)
4|5|5|71IVRE2—T 1 56.0 A 1/4) (1) | TEERZ '
L:TANVRTy Y1 Bibylb—Eai—F+« FRE%RS
= o3| WAEE 1:29.9 7-7 39.8| — 8 421 | @WfE— (KiR)
5 6| IRXETA¥ 56.0 (2 1/2) (1) | EEE—
R:arFaMdy b B:vAMx1>T74% AXETa—T7—L4h
= 160 EATE :30. = . — 1EEHEZ (KR
6 3(NTRFUU— s | BY (11 33?/42) 1-1 41.6 7 (4_4‘;4) i
2R w1 =7 BT U — =Eivie
B 3 | - 1:30.4 8-8 40.2| - 5 368 | /N\PAEAE (BERE)
7011 |FENTA 54.0 (3/4) ) | HE
ANRTNGZ BT RIAYI 97 Eleikie]
> 43 | WABER 1:30.8 3-3 4n.8| — 3 452 | RREEEA (BERE)
gl7/7|VFMUEL—-F 56.0 2 1/2) (-4q) | BB
L:7Rv4va3¥—-> B:v470X AE A
o S - BERRE :30. - . — 1ERERER] (OR
9 4| EaT7ELRANR i3 54.0 }73053 &9 40.0 o f; INBHTF 7
R:TZRT 88— B XA— XA T TRDAS
® I—F—@EBIERL
13—-7-
23—7F—
30—74— 3,8,7,9,2,5,6,1,4
41—F— (3,8),(2,7),9,5,6,1,4
[ RN
B 8 660M 794K 2-8 780 & 2-8 3,070M &R 2-8-9 4,770
# B 8 1909 8-9 350M B E 2-8 3,120M EE 8-2-9 35,990
2 340H 2-9 640M B H 8-2 5,990M
9 210M

ABICOVWTRDTEEERROODE. TR LIV,




